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1. NANTWIANITINAVDIDNIIRIWULRI Y T
AR 4
1H1519% n.3 Pmax — 0.0197 4| M
u
o = 14/4,000 = 0.0035
AS
o . ~ « A o Y o o o
2. AQIRIWBLRIULAAN p NADINTT
dunfRNANUsEANSHa d = 50 -6 = 44 .
M 20x10°
u — 38.26 kglcm?

Rn: 2 2
ébd 0.9x30x44




0.85f 2R
p = <1 1= 11— }
f 0.85f

y

_ 0.85x240 1_\/1_ 2x38.26 | _ 0106 b <p<p
4,000 0.85 x 240

3. fuame A, Adainsuazianldingniasa
A, = pbd = 0.0106x30x44 = 13.99 cm’

WWananigu 3DB25 (A, = 14.73 1 2)
4. 151 UNITEANLUL

T = A, f, = (14.73)(4.0) = 58.92 nu

T 5892
0.85f'b  0.85(0.24)(30)

a = = 9.63

n

M, = T(d—gj ~ 58.92(44-9.63/2)/100

=23.1 Aw-LNAT > [M/d = 20/0.9 = 22.2 53~ LNEAT]
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f
M, = pfybd2[1 - Py ]

1.7
A 14.73
- _ S = = 0.011106 min < < max
P = bd ~ 30x44 Prin = D= P

M. = 0.01116x 4.0 x30 x 442 [ 1— 0011163401 445
1.7 x0.24

23.1 A%-LNAT > [ M/ = 20/0.9 = 22.2 6%-LNAT ]

OK

OK
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3591 (1) AMwrmdnUnusINA

WIRHNNH S2 (DL) = 0.15 X 2400 = 360  kg/m?
YARNING (SDL) = 100 kg/m?
WIABNUTINNDT (LL) = 300  kg/m?

U

WnwnUszae w, = 1.4(460)+1.7(300)

1,154  kg/m°

ﬁﬂ%ﬁnussnﬂuumu B2:

WINBNINNG = 2X1,154X5/3 3,843 kg/m

B2

= T WINWNATW = 1.4X0.3X0.5X2,400 = 504 kg/m

) g )
\iy WA = 1.4X3X180 = 756 kg/m

FINWBIRUNNIANG = 5,103 kg/m




! 5,103 kg/m !
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1

\/ | |\/I%ax = _X5’103X52
\/ 10
= 12,758 kg-m

-M

(2) YSHIaRanNLaIHIUNISAR

USE DB20:d = 40-4-2.0/2-0.9 = 44 cm

Pmin = 14 /1, = 14/4,000 = 0.0035

~ 0.85x240 (0_85)( 6,120

Py = j = 0.0262
4,000 6,120 + 4,000

Pmax = 0.75 p, = 0.75(0.0262) = 0.0197




f
m=_o - 4000 444
0.85f,  0.85x240
- M, | 12758x100 Ly 0y o

" gbd?  0.9x30x442

USNIULRANLASHNADINS:

P

_ 1[4 [4_2x19.61x24.41
~19.61 4,000

] = 0.00652

o = 0.0035 < p = 0.0065 < p_. = 0.0197 |OK

A. = pbd = 0.0065x30x44 = 8.58 cm?

S

USE 3DB20 (A, = 9.42 cm?) | LHWANLASNUY

30 cm

A

\ 4

50 cm

d =44 cm

50 cm

o
) 30 cm .
AR

3DB20




(3) A373BUAIRIAAYDIRUIAA

p=942/(30x44) = 0.0071

pf
M, = pf bd2(1— y,j
" Y 1.7

0.0071x 4,000 x 30 x 442 (1 ~ 0.0071x 4,000j

1.7 x 240

1,534,656 kg-cm = 15.35 t-m

oM, > M, 0.9x15.35 = 13.82 > 12.76 t-m

A

30 cm

v

50 cm

AR

OK

3DB20
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wia M = O.85féba(d—gj+A;f$’(d—d’)
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{ >T1 \ 4 >T2

a [~ o 9 (‘v
lngUnflnansuLsInesinazAsIN fg =1,

mﬂamazawﬂaﬂaaLLiaﬁlmemu
. ’
T=C, + C|

Af = 0.85f'ba + A.f

sy
| [~ Y cQ [~ 1
LUILAANIULSIRIaa Nt UnEa a1
A, = A, + A,

S

T=1T +1T,
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_ _ _ /
T, = A,f, = C, = 0.8 ba

T2 = A32fy = C’s = A,sfs’




o Jd o
Aas uaaa M., taz M, Double RC

0.85f 0.85f,
! ' ! .
a=Bic LI — 8: a=prc  c ] <«—5— C'
l '
< — > doap =+ S d-d'
ey —— T )] ——— T, ey ——— T,
M =M. +M, M. = 0.85f ba (d - gj M, = ALf (d—d)

A, f, (d-d)

d
— As1 fy (d - Ej




~ ~4 A o Y
DIULVANLAINITULLIIDAAT N fs' =

0.85 f'.

a=p4c

.- -

— C'S - A,Sfy

<— .

.- -

— T =Ad,

A=A, > A

A_f

s1'y

0.85 f'.

T

a=p4c

l

>

[ - -

(A -AD,

0.85f'b

f

y

(A, -Al)f = 0.85fba

/

M
>

T1 = (As-A')fy

As1 +As2 = As1 +A; — As1

n1

Double RC

[ - -

[ - -

, a
(A;—Agg(d—ij

L M, = A, (d-d)




~4 A W Y,
NIV UNITATINUDIUVIANLATU T ULLINDA Double RC

6., = 0.003 4 .
NN TNARENAEY
/e
CT ° e, =0003 ¢
V. C c—d
a;::0003(c_dj::01m3($—2J
c c
83
Compression steel , _ | _ f,
yield condition: > | ¥ E, 2,040,000
A.—A)f
From a:( Sal = B,C
0.85f'b

(AR, (p-p)f,d

0.85f'bp,  0.85f'P,




' 4 A W Y,
!ﬁ@uhlsl]ﬂTﬁﬂﬁTﬂell@QLﬁaﬂlﬁﬁﬁJﬁﬂlﬁﬂﬂﬂ Double RC

b

d, f f L l‘—’| *d,
8; — 0003 1—— > = y = y A - A
c) | E, 2,040,000 A,
ULNHAT C A IWENNTTIE LG h d
AS

' ' f ‘
0.003 {1 _0-85% B, d] y :

> Y
(p—p")f, d

S

WadagUannisinaazladaulaiinansuuwsednasiisgaasinae

. 0.85fB,d'( 6120
PP T 4 (61201,

ARIELILWNANTULSIER: f = E_¢. = 6,120 (1—0'85](0[31(1) < f

p-p)f,d) "’




Double RC

~4 A
lcﬁaﬂlﬁﬁllﬁcﬂlﬁ\clﬁﬂﬁllﬂa Pp

eoy = 0.003 ¢ mﬂﬂgawmﬁwﬂﬁw :
4 A J ¢ _ g, _ 0003
c e t d-c g f/E,

unwA1 E, = 2.04 x 108 n.n./2u.2 azls
c - 6,120 q
6,120 +1,

MNFNRAAAII T = C, + Cf

A,f, = 0.85f ba + AT,

1l Ay ABUTHIMMANIULIIRINEN1IZHNR S

LLNUAT
A, = pbd — fp,bd=0385fab + fp'bd

(gj_ 6120 | _O.85fé(gj+ ,g_o.85fgﬁ(gj+ 1
B Po = ¢ lgq) TP T 1 Pilg) P

d) |6120+f,

y y y




~4 A
lcﬁaﬂlﬁﬁllﬁcﬂlﬁ\clﬁﬂﬁllﬂa Pp

0.85f" 6,120 N
£ +

P, = [
f, 6,120 +1, f,
- _ i
%99 Ppb = Pp t P P
y
y _ 0.85f 6,120
Y Po = 5 Bl 692011
y ! y

= dRNEIMNANEINANRAY8Y Single RC

5&15’1&3%1,%%1,&1%34%%&3@ﬁ\‘lmﬂ‘ﬁqwﬂm Double RC:

Pra = 0.79P, er’::—S

y

Double RC




~ ~4 A o Y, |
ﬂjmlﬁaﬂlﬁja\lﬁﬂlﬁﬂﬂﬂquﬂif]ﬂ fS’ < fy Double RC

0.85f

£,=0003 |} g = o.oos(c‘cd) < &,
C] 78; aI :::gs
Vo x — : - E,é - 6,120(0“’)
c
MNFNAAZBINTS T =C_ +C|
' / c—-d
.z c, T Af, = 0.85f Bbc + 6,120AS( - )

wAgxnIsANaIdaaiNanIAT ¢ lrednsuannisinaazle

6,120A; - A, ~_ 6,120Ad" _
0.85f'B,b 0.85f'B,b

2

o Y 6,120A, —A f / /
ﬂ’]qﬁ%ﬂiqﬁ R — S Sy LA Q _ 6;120 AS d
1.71.6,b 0.85ff,b




~ ~4 A o Y, |
ﬂjmlﬁaﬂlﬁja\lﬁﬂlﬁﬂﬂﬂquﬂif]ﬂ fS’ < fy Double RC

unwAlwaENN1992le ¢+ 2Rc — Q = 0 tHauAsaNnN1snaddasaz laAmauAs

c = -R++R*+Q
P=| 1 dl [~ Y] gJJ o 1 dldi v o gl
lJanA1 ¢ MUwlUlAINBWAIWIUATND W) LAF I
a = f,¢c

fl = 6,120(1—9) < f
C

o v @ o o dgl [~
LaAIaISULNLN WA R B LT baz LT 1

M = 0.85féab(d—gj + ALf(d-d)




Example 3.8: Determine resisting moment of double RC beam with d = 50
cm, b =40 cm, d’ = 6 cm, comp. steel 2DB20 (A’ = 6.28 cm?) and ten. steel
8DB25 (A, = 39.27 cm?) use f, = 240 ksc, f, = 4,000 ksc

40 cm

A

A 4

e 20B20 o

50 cm

® 38DB25 @
00000

A, — Al = 39.27 — 6.28 = 32.99 cm’

' 32.99
40 x50

p—p = 0.0165

552388UIRANSULSIOAASINTIS LN

., 0.85B,fd
PP 2 T

6,120
6,120 -,

6,120
6,120 — 4,000

0.85x0.85x240x6
4.000 x50

j = 0.0150

Since p-p'=0.0165>0.0150, comp. steel yield f; =1 =4,000 ksc




3 A A .
MantasunanIIcauaa .

085fC B. 6,120 | _0.85x240 .85( 6,120 j20'0262
6,120 +f, 4,000 6,120 + 4,000

y

< A o
Bnawdnaduiunssdanniiga
! 4,000

= 0.75p, + p'= = 0.75(0.0262
pmax pb + p fy ( ) 4’000
- 0.0228 > [p=0.0196] OK
A, —A)f
(A.—A)f, _ 32.99x4,000 _ 1617 om

0.85f'b  0.85x240x40

(A, —Af (d-a/2) + ALf (d-d)

0o w o J .
MassuTuud - M

— 39.27 x 4,000 x (50 — 16.17 / 2) + 6.28 x 4,000 x (50 — 6)

6,633,030 kg-cm = 66.33 t-m Ans




Example 3.9: Repeat Example 3.8 by changing reinforcing steel to comp.
steel 2DB25 (A’ = 9.82 cm?) and ten. steel 6DB25 (A, = 29.45 cm?) use f'_ =
240 ksc and f, = 4,000 ksc

40 om 2511
) 1. ASIVFHBULRANIULSIIAATIN
® o°pB25 ©
A, —Al =29.45-9.82=19.63 cm’
e
o o—p' =953 _ 00098 < 0.0150
40%50 (from Ex3.8)
l ® 6DB25 P . Comp. steel not yield fS’<fy
® © o o . , o _
2. ATUIURUIYUSS LULRANSULSIOR

anpaaadnsy @ Af = 0.85f ba+ Af

WNWANEILUIRNS ) uae f/ = Eel = 6,120(C;d)




(29.45)(4,000) = 0.85(240)(40)(0.85)c + (9-82)(6’120)(%j

c°-8.32c-520 =0 — c =1249cm
WIaAwInlaeisldgns

R _ 6,120A, —A.f, 6.12x9.82-29.45x4.0 416
1.7f/B,b 1.7 x0.24 x0.85 x 40 '

6,120A.d"  6.12x9.82x6
0.85f'f,b  0.85x0.24 x0.85 x 40

52.0

c=-R+JR®+Q = 416 + 4.162+52 — C = 1249 cm

a = 0.85x12.49 = 10.61cm

f. = 6,120(12.49-6)/12.49 = 3,180 ksc




2. @379 UYINTULAANTL LLﬁx‘iﬁ\‘l

f 3180
— 0.755. + 0’5 = 0.75(0.0262) + 0.0049 >
Pmax Po TP % ( ) 4000

y

- 0.0235 > [p=0.0147]  OK

3. AIWITBANRI LU LN UG A G

r £/ a r £/ !
M, = (A, —Asfs)(d—ij + Alf/(d-d)
= (29.45x4.0-9.82x3.18)(50 -10.61/ 2) + 9.82 x 3.18 x (50 — 6)

= 5,243 t-cm = 52.43 t-m ]




ﬂ?ﬁﬂﬂﬂLLUUﬂ’]%LN%ﬁJL%gﬂ@;

M =M, +M, = Cc(d—gj+0;(d—d’)
HaaR T-T,+T, =C_+C!

AUADWLWNITOINLULAIUADUNIALFINLAENTULIID G

STEP 1: Moment strength from single RC beam
Choose: p, = p.., = 0.75p,

STEP 2: Addition moment strength required
I\/In2: Mu/(l) o Mn1
STEP 3: Addition tension steel A,, (assume f; = f )

y
— I\/In2
f,(d—d’)

M., = T,(d=d) = A,f(d-d) — A,

n




STEP 4: Total tension steel A = A +A,,

STEP 5: Stress in compression steel

A_f
a = — c = alp,
0.85f'b
£ = O.OOBES(C_dj - 6,120(C_dj <f
C C

STEP 6: Compression steel

A, f, = AL




Example 3.10: Design beam section with d = 54 cm d’ = 6 cm subjected to
M, =90 t-m use f'; = 280 ksc and f, = 4,000 ksc

3591 auysild b = 40 gu.
1. ﬁmssmf‘i'lé'amnqmﬁﬂaﬂﬁ’wawﬁﬁﬁhLa%umﬁmﬁm

mgma%umnﬁqﬂ P1= Pna = 0.79p, = 0.0229 (37NA15799 N.3)

NufnBnaSasusie A, = p.bd = 0.0229(40)(54) = 49.46 cm?
A_f
49.46x4.0 oo

s1'y

~ 0.85f'b  0.85x0.28x40

a

c =al/p, =20.78/0.85 = 24.45 cm

M, = AT, (d—gj - 49.46(4.0)(54-%)

n1

= 8,628 t-cm = 86.28t-m < M /¢ =90/0.9 =100 t-m

AIUUADILASHLRANSULLSIDR




2. Imwu@(ﬁﬁaaﬂ’mﬁmau
M, = M, —M_, =100 — 86.28 = 13.72 t-m

3. IRANITULIIAING INITINYLA Y

5
Mo _ 1372x10° .o

A82 = N —
f(d—d) ~ 4,000(54-6)

4. LRRNTULIIAINIRYG
A, = A, +A, = 49.46 +7.15 = 56.61 cm?
lfimanIbuseda 5DB32+3DB28 (A_ = 40.21 + 18.47 = 58.68 cm?)

5. NAVTHWILRR NIV UTID @

fl = 6,120(1—Lj = 4,618 ksc > [f,=4,000 ksc ]
24.45

. =1, = 4,000 ksc




6. USumlnanIunIion AL = A= 7.15cm’

ldwan 2DB25 (A_ = 9.82 1.%)

40 cm
< > ’
¢d
A R . A
2DB25 _f_
60 cm d
3DB28
e o o v
ARG
5DB32

7. 1RO UTIRITU LU LN UG 6 O UDIRTEN 6

ANNAN d' = 4 20.(52EHN) + 1 An.(\andaan) + 1.25 @i, (ﬂ%@ DB25)

6.25 AN.




o | & o o 40.214+1+1.6)+18.47(4 +1+ 3.2+ 2.5+1.4)
FSUSABYNINLAINTULIIFG =
¥ 40.21+18.47

= 8.33 .

AINEN d = 60 ZN.(AIINEN h) — 8.33 7. (e AWIAILAANTULIIRG)

= 51.7 44.

p—p' = ©8.68 — 9.82 =0.0283-0.0047 =0.0236
40x51.7 40x51.7

O.85B1fcd{ 6,120 ]_0.85><O.85><280><6.3( 6,120 j:o.o177

fd (6120-f |  4,000x51.9 6,120 — 4,000

p—p' = 0.0236 > 0.0177 — f; = f, = 4,000 ksc

F9I9NDUUTHI MR ANLEITNIULIIFININTIFR

Prax = 0.79p, + p’]]:—s = 0.0229 + 0.0047 = 0.0276 ~ 0.0283 OK

y




ATNANADIURDNHUILLIID R LAADWNSH

(A, -ADf, 48.86x4,000

= = = 20.5 cm
0.85f’b 0.85x280 x40

895U LNLNWB AR
! a ! !/
M = (AS—AS)fy(d—Ej A (d-d)
— 48.86x4,000 x(51.7 —20.53/2) + 9.82 x 4,000 x (51.7 — 6.25)

1
v

= 9,886 t-cm = 98.9 t-m ~ M_##8dn13 100 Aw-iNes  OK




